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48g   l] .0! %4 F���	 � Iq4� *+48g $9 �48��4 �3 :*� F8��� ���! �<C7 .3��  

$��%   :0.4   ����U  


4�C) %4 *���� n��b�48��<� .)4��!4  �) �3 
4�C) �0� :      ��)4    (F�C)  

 6'� $�5 �>� :
4�C) ��>�3�43 �4�7 *��+�? 8) �3 ��    ..!4 *�'� n��b�4 �@)�� %4 ��0	 
��h9 s�5�! �48��4 �3 $�5 ��>� +  

   �43�0� =4���+3��	����[4  

6'� � _�@�3 $�5 ,J)*� _�@�3 3�4� $�5 : *� 3�4� 6'� �� $9 %4 � 3��*� ��_�@�3 3�4� F�4�0� $�5) .3�� (3�� 

２. n��b�4   ( ��<�!)    �_�@�3 

*��! �k+�3*� ��<� : 8���  

*�'� �_�@�3 �k+�3*� %�� :8���   �k+�3 348/�)�k+�3 348/� �� ��4�� �@7 %�� ���   ��<� ��� (.!4 �@7  

48g,+�48� :  

$��%   :0.1   ����U  


4�C) %4  *���� n��b�4 6'�  :8��<� n��b�4   �) �3 ��_�@�3 �  .)4��!4   �) �3 ��  �k����  ������   �R)   ��!�	 ��_�@�3 �4

*� (3��  

=4���+3��	����[4 �43�0�   �@g�� �3 : Q    ��R ��b�4 %��� $�]) 3�43 3�1� *>� s�5�! �� $�5 3��� �4�� */��� -   F8>� O��� *�'� n

 (.!4  

6'� � _�@�3 $�5 ,J)*� _�@�3 3�4� $�5 : *� 3�4� 6'� �� $9 %4 � 3�� 3�� 

３.    n��b�4   ( ��<�!) *�'� 

*��! �k+�3*� %�� :3��  

*�'� �_�@�3 �k+�3*� ��<� :3��    (3�43 3�1� l] 6'� �� $�5 3��� �4�� */���)  

48g *�t�R *+48g -$9 �48��4 �3 :,� � ��   %4 �� *� F8��� �@7 =�3 �48g .3��  

$��%   :0.3   ����U  


4�C) %4 *���� n��b�4 6'� : 8��<� .)4��!4  �) �3 ��_�@�3 � n��b�4  �) �3 ��  

 =4���+3��	����[4 �43�0�  

6'� � _�@�3 $�5 ,J)3 3�4� $�5 :�*� ��_�@3��   *� 48�? y0J� $9 �3 �   �@)�� ��:��4 �3 ��_�@�3 $�5 ,J) 6+��>�� i? .8�	

*�'� n��b�4    ..!4  

�k+�3 48��4 :3�J!*� ��<� *�'� �_�@�3 ��� *��! i^! 8���*� %�� ��.8���     

 y01 ��_�@�3 �3 $�5 -,[�! 3�� 2+ �3 �@7  �4 �48g $8��� %4 i? �@g��d�   *� .3��  

�k+�3  �4�_�@�3 ���-*� ��<�  *�'��k+�3 i^! 8���*� %��  *��! ���.8���   _�@�3 $�])�-*�'�*��! %4  ��  6�+�?  ��   ��

S��	 ��� c�R .8��<�*+�@1 *!�36+��t�� -6+��    2]�	 �(.!4 *>� *��! �@7 �k+�3 6+��    
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 6'� n��b�4 =��? 6+4����� -.!4 $9 *������ .�[�/� %4 ��3�% F�C) �� *�+���[4 .�[�/� �	 *+�J�9 *� �>��� ��_�@�3 n��b�4 ��:��4 �3 �� (3��  

�_�@�3 F�� ��  *�+���[4 j�� �	 *���%- *� �b��� *�'�   j�� $�+�? �3) 3��P 6'� n��b�4 �@)�� -( ..!4 F8>� %�G9 ��  

3 (*��0H .)4��!4 �48��4 + *�'� n��b�4 �	) :=�3 �48g �0��5 ��  �4 �48g O��� *���% �@g�� �  
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２. *� r� *>� s�5�! �3 $�5 ��>� N+4_�48�3 

３.  6'� $��3 $�5 ��>� N��	*� F8+3 $9 ��:��4 �3 �� 3�� 

４.    j�� *[�_� NT� :3�J!QRS   *� ,!��� .3  

 :=34 �+ _�5  

１.  6�\���? 3���*� s� �_0!4 ��>� N��	 �1��) 6���  �<^	 �� .��3 ���*� 4� s�+�� �� .>��� � 3�� (8��	 

２.  s� �� X�[ 3��� =8H*� .��� �3 34��) *C�[ ���*0� ��@T� � 8���� (8��� 

３.   ����@� F�4�+3 ��!96�\���?) ��@	 ��� ($���� $_+��� �� 
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５.  s����! $�5 ��>� N+4_�4($�5 ��� $3���� 6����0� 34��) ��    

６.  6�\���? N+4_�4 � $8� ,+8! N��	..!4 �U�� =34 3��:� �3 $�5 ���    

７.    $�<�4 �3 _�5 %��� y��� X�[ $�+�1 N+4_�4 *� .3��  

 :*C�[ F�M�!3  

１. �k+�� � X@�T� 34�� ���) */+�� .>�%�� ��*� 20	 $�5 �� 8�C! ��� .8+�0� 

２.  F�7���+% s����! �� �	 .!4� �0�� *C�[ s� �'7 *� �4..!4 l] �0�� �3 ���>� s� �'7 %4 ��0	 -38���?    

３.  s�+�� *0� 8�	 �� �0�b�<� 4� 3�5 
�+���� F3�� *C�[ ���   %4 ��@� .8�_+� s�_� c+�R*� �@7 3�4� 6+��% s����!   .+�:��3 � 8��	

*� 8�	 ��s�_� ,� �	 ,�M� ,������ i?) .8��� 8��43 Nb� �@7 �� *��4�� 
�+���� .>�%�� �3 6+��% ,� � 6+�+% s����! ( 

４.  F�� s� ��<� �3 -���C�[ ����k+�3 *C�[ �������� �4�7 ��8�4   . 

５.  s� 348/� :3�J! [ F�� �� �3��� ���s� �3 + 8��<� *1��5 %4 ��>�� *C�.,+�43 �k+�3 *1��5 8���0� �3��� ��� 

６. F�� �3 .8��43 ��`) K����	�� �3�+% 348/� -���C�[ ���  

 F8���� �@G4 f�<) $a�<	4 N��	 �� �	 *+�� s�5�! �3 -8�4*� .��+ 
��h9 �Q� s�_� ���.8���     

+3 �3�s� *5�� F�4   -$�<�4 *��5 ��� F8���� (s�5�!) 3�43 3�1� $�5 ��>� �� f�<) *������ ���  

 s�5�! �3 :3�J! s����! �3 � 3�43 3�1� $a�<	4 N��	 �� f�<) *+��0�� � �_0!4 -3�3 -��>� F8���� -�� F8���� -�� .��+ *+��3 ���

*� .3��  

   -�[�� 3�� 2+ �3pH    *� $�5*@? ���� ��:] ���) *��\���? E!�� 8�4��) �8��^? 6��	 .��+�3 ��) .3�� ,�A�� (6���@��0� �3 (8�<	4  

��5�+ :$4�T�!4 _L� �3���� ���  

１. � 8�h�@�� 

*� ��5�+ X@�T� O4��4 �>�� 8�4�� .8��� *��5 ���  

*� �3���� ��5�+ O�� 2+ -$�<�4 6��1 �3 ��5�+ 
�/'7 8�[�� �3 8�4��*� �4��<� $�8� � V�� .8��� ,�:! �4 

２. �8�h�C�[    

３...�M+3  

:8�	  
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１.  2�? 8�[�� �� $4�4�� 348/� -(6��+�?���+�4) 3����3 *+��0����5�+ 6+��*� ,�A�� 4� $�<�4 *��5 ���8��	. 

２. �k+�� 8�[�� ,�A�� �3�k+�� 6���@��0� �+�T� %4 �g�) F3�� y�3 �3 + 3�43 Nb� $�5 _��7 ���*@��) 3�43 Nb� _��7 ��� (6���� 
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*� ,� (3�48� .�0! ���L� �� ���	 ��@	 *[� 8��� .!�3 8�4�� 

８. ��5�+ -*���1 $4��3 �3*� *��5 ��� *0� S�<�� �[�� 3�� 2+ *C�[ F�M�!3 %4 *h_1 � 3%�! .3�� 

９. ,	 �� u���� ���0�� *H�� �3 6�+�? $�5 F��4 $4_�� -8�	 ���	*� t�� $�5 w�����9 $4_�� � «*H��» ��@	 %4 &4�R *�7� d	) 3��
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１１.  s�+�� E!�� $�5 ��!��?�� ���*� *��!� ��5�+ %4 348/� � 3��*� $9 ��� s� �� 8��4��.8���+ _+�0� *��5 ��� 

１２.    3�43 Nb� *�0+4 F�M�!3  d�54 *H�� %��� �3 (.��+3 �Q�) 
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１５.    �� 48��4 e�4�� �[�[ $�5 �	 8�	 �543 �3 6���@��0� %4 F8�34%9 6�9 *� 3�4� $9*� F��5} -3��.33��    

１６.  *� $9 �3 F8� F��5} 6�9�k+�� .5�! .:1 8�4�� $4�T�!4 _��7 _L� �� _��7 ��� .3�� �b��� 6:? ��� 

１７.  .3�43 Nb�  ���<@	 8�[�� �3 

１８.  ��5�+ c+�R %4 -(�[�� 3�� �3 ��) *���1 $4��3 �3 �k+�� -3�5 �3���� ��� *� 8�[�� 4� _��7 ��� .8+�0� 

１９.�+ �@g����5s�+�� �3 *>��? .��� ���..!4 3�+% ���<� $9 ���       

２０.  2�[�� "��� �� %��� -E��� $a�<	4 N��	 �� *� N+4_�4  8�!4 s� �'7 + 8��+ $�5 ��� *� N+4_�4  8�	 �� $�!�   8��+

) 6��	 �3s� �3�>� �1�� 8�<	4*� ���k+�� ��� ���L�  �0�)4 �3�4�� �3 + .3��4 �3) 3�43 3�1� _��7 ���   �A� %4 �[�5�� 34��

,	 *!43 *��5 (���  
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１.  2�? 8�[�� �� $4�4�� 348/� -(6��+�?���+�4) 3����3 *+��0����5�+ 6+��*� ,�A�� 4� $�<�4 *��5 ���8��	 

２.   ��[�� %4 *`/� y�3 ��*� 20	 $8� *[9 ��� 2+��4 -����43 dQ�) .8�	 (.. � F��4 -8�!4 

３. �!��� 8) �3 4� $�5 �_0!4 ��>�*� �M� *$�+ � S9 $4_�� ,�A�� ��) 3�43 (S���5 ���  

４.($�5 ,�<@	 $4_�� ,�A�� ��) 3�43 ��U�� Nb� �_+���5 ��� �3 $�5 3�b/�4 8�+9�� �� 
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６.    *H��*� *�0+43�5 ���0��*� t�� 4� $�5 8�7 �	 .��+3 dQ�) 3�� $�5 �_0!4 ��>� �3 ���L� �H�� 8�4�� y�3 ,� $8� S9 � 3��

*� (3��  

:��T[ ���>�  

１.  =8b� $K��+���� %4 6+���� 8�[�� �� 6��������? %4 6������ 8�[�� *� r� ��3�% � .!4 ��8�3 

２.  �k���� n��b�4s� F�4�+3 �4*� 
��g ��.	d? ,J) ���L� � 3���*� r� �� F8�	��) 8�3 (F�5t�� 8�4  

 N�	4� $��� �+% ���:8��<� *[�@!  

１.  $K��+���� %4 6+���� ���>� 

２.  $K���<^? %4 6�<^? ���>� 

３.  6��������? %4 6������ ���>�  

"105  

   ��@	 s�5�!.+�:� �3   *� ,�5 $4��9 s�5�! �� .3��  

 s�+��   O�� %4 ��@	 ���(�7�� ��) 8��43 ���	 � ,�Tq �+�? ��>G � F3�� �43�C��  

*� 3�4� s�5�! ,� 8�	 ��*0� S�� s����! �� ��@	 s����! ��4 .s����! ,� � 3�� 60�b�<� !3��

 s�_� �� F���.6+�+% s����!  

 6��	 -��>�� $a�<	4  :��@	 s����! �� .�<� ��@	 s�5�! �3  */�3 34�� -��0	 8�<	4   !���>��

 .3�43  

 =�� � ��>7 NT� �� .�<� �k�M[ -.�[�/� ��� c�R :3�J! 6��� �� ..!4 ��  

   �� F8� 3�4� �4�34 ,J) %4 -(��4�348q � $���!�8[9) $�5 �3 *+��0�� ��	�� *H�� ��`) *? �3

 *� ��!�	 ���Q� .3��  
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,�!��? I��� � ,+8! S�1%��)! (  

 v�? �[�[ �� 34�� 3��� ��� �� *� %�G9 S�1%�� 8�+9�� -(6���  �<^	 = F_+3�� NT� 6�[�4 ��) 2+3_� F3��5 .3��  

 NT� "4�R4 �3 $4��4� s�5�! *� �/>�� F_+3�� X@�T� ��� 3��  

   �3 � 8��M+8�+ X[�T� .:1 �3 �b�73 I��� � S�1%����5�+F_�	4� �� $4�4�� %�?_+� �	 (F_+3��) $��C� %4 *+����5�+ ��>G �� 3�0H *+��   �4

 *� =�J�4 8��43��5�+ 6+4 6��k0� .3�� �[�[��3 ���� �� �� .8��43 
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�������� :
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�� ��� �  
1. R�*+� O�H��N��  
2�/�/4�*a .  
3 LMN���  .  
4 3 ��/3X  .�����3  
5 �/�Q��  ... 3 9���4 3 d�8+ ��  
6)�/3� 3 O/3�.@��+��X 3 *���  
7 7�I% 3 *$% .  
8 7�I% �+3/4 3 �+3��� /��0�� .  
9 OU�4�B .  
10 23��� .  

11 ��]F� .pH  
12/�/4� 7�IW� .  
139��34�= .  
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�� :3�43 Nb� F_�	4� F��<� $K��8�� $�+ .A@G ���L� �3 ��4 :3�J!  N+�<	4FADH2    �%�!34%9 �2  $�+H+    �3 4� $�+ 6+4 .A@G

 *� N+4_�4 F_�	4� *@543 ��`�8�3  

 ��[4 $�� *� =�3 l0? �� 4� ��8�3  

 .!4 f�0� �3 �+t �3 �� _+�M�9 =3 �� *[� .<�� ��!4�! � .!4 F��J�% _+�M�9 �_1 :3�J!  

$����[4 �	 .!4 *[��[�� 6�[�4 :3�J!   ���FADH2    *� 4�.3���  

6��<T�   $����[4  �b��4 F��J�% %4 �_1    $����[4 �	 .!4� ��) O�� �3 ���      ,�) $����[4NADH      ,� �FADH2(   *� ���H $9 %4 .8�	  

３.  =�3 l0? 

 $����? $3�	 l0? �4�� =%t �K��4 $����[4 %4 �� *� 6���� �K��4�? ��� .3��  

l0? �0� NT� �� � F3�� ��!4�! �� S9 ��� S9 � .!�3 ..!4 f�0� �3 �>G _+��  

   "��� $�8�ATP $�+ -�� ��� *� 3�4� ��8�	���� ��>G �3 6�� ��`� �� 4� $K��8.8�	  

４.  =�3 2]�	  ��[�� 

�+t %4 *�+ �� �:�� :3�J! (*@543 ��>G *1��5 �+t) .!4 f�0� �3 *@543 ��>G �8�^�[�C<� ���  

 *� �b��� �>G �543 .0! �� �>G j��5 .0! %4 4� $����[4 :3�J! .8!�� 3�5 %4 8/� l0? �� �� 8�	  

   �3 (���[4 ,�b�<���G) ..!4 �U�� ($9 .A@G ��� .:1 d5 �3) $�+ *H��  �b��4 .:1 -=%t �K��4 6���� 

５.  =�! l0? 

 $����[4 *� $a�<	4 �� 4� ��3�� �+8�� 8�<	4 $�+ �� �� 8�3  

*� �3  �/���G 
��g �� � 3��� �4�7 8����! $�+ ��U�� .�� �0�b�<� 8�4��   .8+9 6��	) (8�<	����  

$����[4 + 3�43 Nb� S9 8�[�� �3 :3�J! F3��) *+�:� F8���� �� 4� ��*� (*�8/� �4.8�3  

$�+ $����? �� ��	�� �3 8�<	4 ��� *� ���>� 4� S9 -(�>G�3 6�� ��) F_�	4� *���3 ��`� ���.8��3  

 $����[4 $8�!� ��<� %4 *>T�   F8��+�? �� $����[4 "��T� 6�@��) %4 �� (l0? 6+�59 �� 2]�	  ��[�� 6�[�4 %4) ..!4 w��>� -$9 *+�:�  

 $����[4 $3�	 l0? �4�� =%t �K��4 �@�[�� %4 -(F_�	4� *@543 NT� ��) �>G �3 6�� ��`� �� �� *� 6���� $����[4 ���) ���    .3��  

 $����? :3�J!   ,+_�9 *[���	 NT� %4 -F_�	4� *@543 NT� �� .>��� �4�� ��ATP   �!4 %�! *� F3�C.8��	  

6��   S��	   :*!�3 $����? ���>�? F4� �:�� NT� 6+4 �� 6�>��� �4�� ��NT� )   (F_�	4� *@543 �H�0J� -,+_�9 =�� �� *��\���? �4 ATP.!4 %�! .  

 $����? 3��� F4� �:�� ..!4 *��\���?  ���	 *H�� %4 ���H -F_�	4� *@543 NT� �� ��  

 :*@�[4 ��0T�  
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１.    48��4CO2    *� j��5 
4����? %4 *� ��� 4�  ����4 � 3��$����[4 i^! -8�3   ���NADH    *� "��� .3�� 

２.  �3 *[9 F3�� *H�� -$����[4 *+�:� F8��+�? :3�J! ..!4 ����	  

３. 6��	 
4����? %4 �	 �8�+9�� �� :3�J! �3 *� 34%9 8�<	4
4����? N+�<	4 + *@�[4 ��0T� :3��    

４.  $����[4   ���NADH   *� F343 (*���	 �3 *[��[��)  ����4 �� .3��  

 :*���	t ��0T�  

１.    �� �� $��_0�$����[4 -(
��	t=) *+�:� ��	�� $8�9 3�1�   ���NADH    *� "��� .3�� 

２. .!4 ��0T� %4 *>T� _�[���@� :3�J!   *� %�G9 (.��	8�7)_�[���@� �� ��0T� �.3��    ��[�� 8�[�� i? �! �K��4�? ��� �3 ���C<�

   S��G *� ��434 $a�<	4 .8��+ 

３.  �� �� $��_0�   -(
�C<� $�8� ����	 �! 8�!4 *H��) 
4����? $8�9 3�1�ADP    *� "��� .3�� 

４.  �! *[9 F3�� *H�� -$����[4 *+�:� F8��+�? :3�J!   ����	   (
4����?)..!4    *� ��)4 60�b�<� 
4����? 3�� 

５.  6��	 :3�J! �3 *0� 34%9 8�<	4.3��    

６.    -*@�[4 ��0T� "d5�� 6��	 �3*0� 34%9 8�<	4 .3�� 

７.  ��4��!4 ��5�+ 2+ �3   20	 �� 
4����? -$�<�4 Z���� �3 3�1�� ����� �3 3�1�� �4NADH *0� ��)4   *���	t ��0T� $�]) 3��

 (!$�48�  

 :*@�[4 ��0T�  

１.$����[4  �b��4    ��[�� 2+ ���NADH*� 
��g ( ����4) *���	 �3 ��	�� �� -.3��� 

２.   

 :8����!  

１.    �� 8����! ��5�! y��� -F_�	4� (��>G�3 6�� ��) *@543 ��`� �3 S9 ���>� ��:�   $8� ATP  *�.3��   6��	)(�+��J��0� ,� 8�<	���� 

２.  *� �U4 l0? 6+�59 �� 48��4 .3�4�� 

３.  *� F_�	4� *@543 NT� �3 S9 ���>� y��� -l0? 6+�59 .�[�/� %4 �����@1 �� .3�� 

４. ,+_�9 .+�:� �3ATP  *�  �/���G F_�	4� (*1��5 ��>G ��) *@543 ��>G �3 3�1�� %�! $����? .A@G $�]) 3��   6�� ��`� �3 ��

 *� N��	 �>G �3 (8��+ 

５.  $����? $3�	 l0? %4 *� ./��0� (F_�	4� *���3 ��`� �� ��) �>G �3 6�� ��`� �� ��.8�	  

   $a�<	4 3�1� 
��g �3 -(
4����?) .��	8�7 %4 �g�)  ���� *� �b��� F_�	4� $��3 �� *+�>G 6�\���? *H�� c+�R %4 -(F�4�0� ��) 3��  

 F8�<	43�?  ��+34� �� $4�T�� $�]) 6���+ N+�<	4 %4 i? �� *� -(8��� *Q�5 �� 8��8� $����[4 34%9 ��� 2�\@	�� 8��4��   %4 4� F_�	4� ���8�!4

  ��+34� S�T� 
4�U4.8��	 oC) 34%9 ���  

�4 �4�� =%t �K��4    �b� H+ *� -F_�	4� ��>G �3 6�� ��`� ��$����[4 %4 8�4��   ���  FADH2   � NADH    _	�@� %4 ��G *[��[�� N+�<	4 %4 �g�)

 (...� 8�!4����9 � S�]8�!4 dQ�) 3�� 6���� _��  

"126  

2� F��� s�� :�^[  
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１.  ��5�+ 6+4*� .��+ s�� �3 �� :8��� 

 F8�% *�!�?�� + *J�C!4 ,�>�4��? :����:M� + ��   "dG + F4�0� ��5�+ � N��9 8��9 + ��%�� $

 ... � �8��9  

 F3��... � ���� � *��] 8��9 :��  

 F3��» ,�M� i? -8��48� ,!d?���! ��   �3�0�? $��6�\��� ��5�! ���   -,!d?���! �3 F8�

 *� 48�?  *���C��  .����!!�'@G  «8��	  *�» ,�M�  ��4  F%��   F3��  �3  3�1�� �K��4  8��4��

4� ��L�    F3�� $�] �'@G _�� «8��	 34%9 .8�4  

２.  $4�4����5�+ 6+��   ����`� ($48b� ��) �4�43 3�5 6�� �3 (*J�C!4 ,�>�4��?=) s�� ���

6�� ��5�+   (S9 y+�! ��T��) ��/� �3 � 8��<� �4 )�7�! �3 S9 $��! *M�!��? oC) �(   

*� ��U�� .8��4�� 

３.  *�'!��5�+ 6+��*�!�?��=) s�� ���5�+ ���J� (�� ��F8�% ��b� � ��%�� $��:M� =) 8��<� *+��6��	 � S9 �	 (�� �3 �� 4� 8�<	4

*� S�1 ��>��4 e��.8��	 

４.  ��5�+ �:�� :3�J! ��%�� $��:M� :s�� .!�?�� F8��	_��!��� ��� 

５.  ��5�+ F%48�4 :3�J! 2]�	 ��%�� $��:M� ���   ����5�+ %4 .!4 ���J� ��� 

６.  ��%�� 348/� :3�J!   �3 �� ..!4 *+�� .!�?�� %4 ��>�� 6+�+% .!�?�� 

７.  ��5�+ :3�J! "dG ���2� �3 �8��9�^[ �4 .8��43 _��!��� *+��4�� �� 

８. S9 ��� ��C�� S�] :_��) 8��43 �4�7 s�� 2�:? *+�� .!�?�� �� �� *��] ���8��9 � 6+�+% .!�?�� �� �� N��9 ���8��9
���� ( 

９. ��5�+ "dG ����<+3_�! �4�43 �8��9 8��<� $4�4�� ��� 

１０.    �3 F8��	_��!��� ��5�+ �:�� �	 ���� $�0!4�)) ..!4 F8� ���>� (*J�C!4) *0�>�4��? ��5�+ O�� 2+ �:�� %4 s������

(8��<� ,� �8��9 "dG � ��%�� $��:M� $�] !8��<�� s�� 

１１.  ��%�� 348/� ..!4 6+��% I'! %4 N�� 6+�+% I'! �3 ��  

１２. ��5�+ �0�*0� 
�} s�� *0�>�4��? ���9 %4 8��4��,+_�   �8��9 "dG ��� $��� $�]) !8��	 F3�C�!4 6+�[�	 �5�] ���

 *0�>�4��? �0� $�] 8���� ���48� .!d?��@	 8+�� + 6>�� =�J�4.8��<�� F8��	_��!��� �� (  

 �3 F��� s��:�^[  

１.    :_��) 8��43 �4�7 s�� 2�:? *+�� .!�?�� �� �� *��] ���8��9 � 6+�+% .!�?�� �� �� N��9 ���8��9S9 ��� ��C�� S�]
���� ( 

２. ��5�+ "dG ��� �<+3_�! 87�� �8��98��<� $4�4�� ���      c�R !3�43 ��>� �@01 6+4 ���[4) .!4 F3�	 �R�)4 4� s���� ��3 �� ��3 �

S��	 *� 3�� ��:� � !.!4 s���� �_1 �8��9 "dG �� *!�3 ��5�+ �8��9 "dG .C� *� �R�)4 4� �8��9 ���(8�	 

３. �� �3 %4 s������O    F3�� � *J�C!4) *0�>�4��? ��5�+ .!4 F8� ���>� (�4    

４.   �@! F3�� s������ ���4�7 *+�� .!�?�� �� 
���J� �3 -�4�    .3�43 

５.  ��%�� 348/�..!4 6+��% I'! %4 N�� 6+�+% I'! �3 ��    

.!d?��@	   (�<+3_�!) :  

１.    6+�[�	 8�h�	d�� ��`� �3   .��Q�)CO2   ( *0� =�J�4 *� =�J�4 F��<� �3 ��@� !3��   .3�� 

２.   ��[�� -$9 *���3 ��>G "d5�� 8�h�	d�� ��>G �3 .8��43 3�1� 6�\���? 348/� F4�0� �� ��� S}�1 ��� 

�������� :
�� 
�� ��� �  
1.  ��'�����  

2 7'��8� .C3 , C4, CAM  
3 ..��/�*+�N 7Q� .  
4 *�k�%g�� �3��!"�  �8�+� O��Z+� .  
5 ̀ �� /4 �U�F���� VF%�3 .  
6 7e" 34 3 7e" )� 7'��8� .  
7OU�H+/ .��  
8 ���/�%3�=/�� �3�D� .  
9 
��"�% .  
10�/�+ \DF� .  
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３.  $����[4  �K��4  -F��<�  ��`� �36��	 ���8���?  �3  ��T�M�4��  ���- *� F��5} $K��8���! 8�!4   ��[��  �3)  33��   F��5} *���	

*��(3�� �+8�� 8�7 �� �� 3�    

４.   �/� ��   ,	4�� �� -*+�>G l0? $8�H+    *� F3�_�4 8�h�	d��*� ��!�	 $9 .A@G %4 - ���	 6�\���? $8�  �/� �� � .3�� .3�� 

５. *� 34%9 $����[4 -8�h�	d�� *���3 ��`� �3*� 8�[�� $a�<	4 + 3�� *� �J��1 $K��8�� $�+ + 3��.3��    

６.    j��5 � 3���H+      "��� $�8� -8�h�	d�� �3ATP    *� 
��g.3���  

 F_�M�� :�_��!��� ���  

１.    ��+_�!a 

２.    ��+_�!b 

３.  8�h������	 :�� 

 .!4 *h�� ��� *�9 � _�! NT� �3 �:�9 S�1 6+��>��  

*� F8+3 _��7 �+ � *J���� � 3�% V�� �� :3�J! ��� 6+4 �3 � 8��� 8��43 4� S�1 $4_�� 6+��0	 ��  

   %4 ��0	 j��  �R �3 :3�J!400    .8��43 S�1 _�� (NC��4��) �������  

 s�� ��+_�! $8� �+_J� �� -(.<�� N[��5 6�H j�	 dQ� !�0� ��) $����� *`/� �3 *� N+4_�4 ��8�h������	 �48b� -�:�9 ���.8��+  

NADPH :  

１. ��5�+�3 F3�� ,�>�4��? ��� 6�0�) ��/� F��� s�� �4   *� _��!��� �	  ��	 F�48� *7�� ���� ���5 �+ ���� ��/� �M+3 -����	
����   �>�� -(

 $����[4  ��[�� .5�! �4�� �K��4�? ��� ..!4 8�7 ��� 

２.  $����? ,	4�� N��	 *? �3 �� F��<� �3 �� *� 3�1�   �� �3 $�]) .8+9H+    (e4�� �>� "��� 8+�� 

３.  �����! �3 $����[4  �b��4 F��J�% *H�� E!��*� 8�[�� *+�>G �4   .3��   ,�<�!��� %4 8/� F��J�% *1��5 I'! �3)1      8�[�� 8�h�	d��

*�3�� N�	4� *R � �<+8�! F��<� �3 = (�*� �g�) *+��0�� �� *�4��� �K��4 �+8�� �4 .3�� 

４.  $����[4 � 3�43 �8���\@	�� ����5�!   ,�<�!��� %4 4� 3�5 ���1  *� .��+�3*� 3�� ��:� ���[4) .8�	>� *[� �8���\@	�� �3 .C�   *@�

 *� .!�3 .<���	�	 ��M� .T! 3�+% -,+���
����(    

５.     ��[��NADPH    *� N+�<	4 � .!4 $����[4 ���)    ��[�� *[� 8��+NADP+    *0� � 3�48� $����[4   
���H i? 8��+ N+�<	4 8�4��

   N+�<	4»NADP+$�'�� =43 ��� *�C�� !!�:::'@G «
���� 

�3 �	 *���� ��5�+ �3*� .��Q� 4� 6��	 8�<	4   8�[�� �3 -8�	FADH2    .3�43 Nb�  

 N�	4� �3  $8� ��5�! �� F4�0� -��� ��<�4� ���ATP*� 8�[�� _�� S9  ��[�� -  ,�<�!��� *@543 I'! �3 _�� S9  ��[�� "���) 3��2   

 *� F8��>� (3��  

,�<�!���   -��� F8���� 6��9 �� �3 :�� F_�M��.3�43 3�1� 6�\���? %4 *H4��4 F4�0� �� *���C�� ���     8����5 �K��4 �	 3�43 ��� F8���� 6��9 6+8�]

 *� S�1 4�.8�	  

１.    ,�<�!���2 

!���3 ��) !3�43 _	�� 2+ �:�� ,�<�!��� ��   !%%%%_	4�� ��*� 3�5 N�	4� _	�� $��3 ��4 .(   ��+_�! 6+8�] 8�4��a      c�R) 8��� ���43

:S��	 ���   2   ��
����(  

  ��[�� -$9 N�	4� _	�� �3   ��+_�! ���a.8��43 �4�7 *��\���? ���<� �3 -  
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   j��  �R �3 $9 N�	4� _	�� �3 3�1�� ��+_�!680   ) 3�43 4� S�1 �Q	48) �������P680 (  

 *� $����[4 *��	�� �� ..!4 f�0� �3 8�h�	d�� ��>G �8�^�[�C<� Z+t �3 �� �:�� �	 8�3  

   :3�J! _+�M�9 ..!4 F��J�% �`H 6+��  

*� .��+�3 �>G *@543 .0! %4 4� $����[4 :3�J!(S9 ���� �+_J� %4) 8�	  

 *� S9 ���� �+_J� %4 �0�b�<� 4� 3�5 *�����[4 3��0	 :3�J!3���  

 $����[4 &��5 ���*� .!3 %4 �K��4 ��48b� -*+�>G l0? %4 ���H �� -$9 %4 F8�.8��3  

   -$9 �3 F8� S�1 �K��4 *� �H�� $����[4 �� 3�������@	 %4 ��   ���a   .8��� 34%9     

�+_J� ,+_�9 8�h�	d�� *@543 ��`� �3*� .�[�/� S9  ��[�� F8��	 .8�+�0�  

２.    ,�<�!���1 

   j��  �R �3 $9 N�	4� _	�� �3 3�1�� ��+_�!700   ) 3�43 4� S�1 �Q	48) �������P700 (  

 *� $����[4 *��	�� ��   2+ �� �:�� �	 8�3   f�0� �3 8�h�	d�� *1��5 ��>G ��) ..!4 f�0� �3 8�h�	d�� ��>G �8�^�[�C<� Z+t

 (.!4  

*� .��+�3 �>G *@543 .0! %4 4� $����[4 :3�J! (8�h�	d�� ��>G *@543 .0! .!�8�9 6�\���?) 8�	  

*0� S9 %4 4� 3�5 *�����[4 3��0	 :3�J! G *@543 .0! �3 ����� �4�7  ��[�� %4 ��@� !3��� *� (,�<�!��� �3 6�� F��J�%) �> .3���

 $����[4 .+�:� �3 �	 ��!�3)   ,�<�!��� �� S9 ���1   �7dH ����	 &4�R *[� �!����	d� e4�� ,�b�<� � F�48� �@01 6+4 �� �4
���� (  

  

  

 :�<+3_�! $����[4  �b��4 F��J�%  

１.    ,�<�!��� �3 6�� F��J�%1�2   : 

 $����[4 ���H ��   %4 �_1 2+ %4 �� $����[4 -.!4 8�h�	d�� ��>G *@543 I'! �� ���� �	 F��J�%   ,�<�!��� �� ��1   *� �b���.3�� 

$����[4 ���H ��$����? -.!4 8�h�	d�� ��>G �8�^�[�C<� �+t �3 �� �� ���J� �	  F��J�% %4 �_1 2+ %4 ��   � .A@G ��� "d5 ��
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 $����[4 .	�) �� *� ,�4�� l0? .�[�/� �4�� =%t �K��4 48��4 -��8�h�	d�� ��>G �3 $����[4  �b��4 F��J�%  �R �3 �� .3��  

２.    ,�<�!��� %4 8/� F��J�%1   : 
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 *� .��+�3 8�h�	d�� ��>G *@543 I'! %4 4� 3�5 %��� 3��� $����[4 -,�<�!��� �3 �� :3�J! .8��	  

 :8��43 Nb� 8�h�	d�� ��>G ��! �3 �3 $����? .A@G "d�54 N+4_�4 �3 ���H �!  

１. ,�<�!��� �3 6�� F��J�% �3 3�1�� *+�>G l0? 

２.    ,�<�!��� *@543 I'! �3 S9 ���� �+_J�2 
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�C<� ���� $�0!4�)) 8��<� �@)�� 2+ *+�:� 
ATP      
�C<�%�[��+� �� 60�b�<�

 *� F343*0� 34%9 �<+3_�! F��<� ��`� �� � 3�� (3�� 

２.  6��	  ��[�� 2+ $3�	 ���q4 �� �3��?  ��[�� �� 8�<	4 N� *��	�� -*���	 *� ��5�! *���	.3��    
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４.  �! ���8�7 %4 �5�] ��%�G9 ��	�� 8�[�� �� *� 34%9 
�C<� -*���	 ) 3��4   (W�3�	 e48�? -$���� ��_�� 
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�C<� .+�:� �3 � 8�3

 *� $���� ��	�� %4   �� $��_0� 
�C<� j��5 i? .8+9ADP      �%�!34%9 %4 i? � .<��NADP+   W�0:� ,M�) !.!4
����(  

 :���� iC��  

１.  %4�� iC�� 8���0�   8�[�� � $a�<	4 "��� �� �CO2    .!4 F4�0� 

２.    �K��4ATP    *0� 8�[�� 3�� 

３.  *� =�J�4 F_�	4� � ,!d?���! �3 �M+3 *>T� � �<+3_�! �3 $9 %4 *>T� 3�� 

４.    ��	�� ��<���� ,+_�95    *� �48+�?�� ���C<� �3 *���	�! ��	�� �3 �� �	 3%�!*� �+_J� *���	 �3 � *���	.3��    

５.    -���� iC�� 8���0� *� =�J�4 ��8�	���� �3 $9 %4 *>T� .3��  
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    ��[��NADPH   5�] �3 %�� =�M���    *� N+�<	4 6+�[�	 .8��+  
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��5�+ $��3 4� ��!�>� *� 3�5 s������ ��� .8�%�!  

M�� �� -���� iC�� �3���? *[9 ��	�� �+_J� =    ��[�� -����	ATP   *0� 8�[��.3��      i?)   -*[9 F3�� �� �+_J� =�M��ATP   

*0� 8�[�� (3��  

   t�� ��� 
8� �3CO2    *� .!3 %4.8��3    (���� iC��)  

*0� r� �<+3_�! �3 Eb� ���� iC��*� =�J�4 _�� F_�	4� �3 $9 %4 *>T� ��@� 8�3.3��     

   -.!d?��@	 %4 j��5 �3 *���	 �3 ��	�� 2+ �+_J� �� -���� iC�� �3CO2    *� 8�[��.8��	  

    ��[�� -���� iC�� �3 O2 ��? *[��[�� ��
�C<� � ����	 i��%�[��+�) �43*� ��	�� (
�C<�    ��[�� �3 �� .+�:� �3 � �3��

�!*� �+_J� ����	 �3 � ����	 .3��  

6��	 �� :3�J! �3   �3 .!4 6�0� ��@� .<�� �%4�� iC�� �3 *[� .!4 $a�<	4 "��� *? �3 F_�	4� �3 F8� 34%9 8�<	4

 !8��� ���� iC��  

   :S��	 6���?��@	 %4 *���	 �3  ��[�d N�	4� �3 � j��5 .! *� =�J�4 F_�	4� �3 �:�9 %4 *>T� �	 *+�� ��[�� $9 %4 -3��� 

CO2    *� 34%93�� .  

   $8� 3�+% �� F�4�0�CO2    *� N+4_�4 _��!��� $4_�� -E��� 8��+  

*� 
��g %�� =�M�� �� Eb� 6��	 .��Q�3���  

 ��%�� /8��<� ��<� �� �3 ��  

   : �Q�%� ��    ($����� ��>��)  

２.    $�����C4 

��5�+ �3    ��[�� -s������ ���CO2    �! 8�!4 ��*� ���>� ����	��:] 8�!4 � F8� ��	�� ����	 .3��  

.��Q� ,+_�9   F8��	CO2    3�48� *��!�<) $a�<	4 �� .�<� -�:�9 �3  
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 �! 8�!4   ����	��:] ��	�� %4 F8�34%9 *���	   (*���	 �! 8�!4 �� ��) ,!3�0!d? c+�R %4 -�8��9 "dG ��5�+ �3      ��5�+ ��

 �� s������*�.33��  

   $8� 3�+% �� F�4�0�CO2    *0� N+4_�4 _��!��� $4_�� -E��� ,+_�9  �/� F�M+�1 �	 �8) �� ��@� 8��+ N�? %4 �� .3�� �? F3��  

   "d5�� ,>] N+4_�4 _��!��� $4_�� -3�+% ��� 
8� �3 -%� F��� *� ����.8��+     

*� 3�4� �<+3_�! �� �	 *��	�� �� :3�J!6�\���? 3��   6���� E!�� F8� ��5�! 6��	 ��	�� 8+�� -.<�� 34%9 ��� �3   8�<	4

 .8��� ����	��:] ��	�� %4 F8�34%9  

*� 
��g %�� =�M�� �� Eb� 6��	 .��Q�3���  

��Q�*� =�J�4 �@)�� �3 �3 4� 6��	 .,�<b�) %�� �3 �3 �� :8��3 (*���� �8��  

S��	» :*!�3*� ��� $����� 6+4 �3 
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*� =�J�4 *+t�� *+4��	 �� 4� _��!���   $����� �	 ���� $��!4�)) 8��3CAM      *+4��	 *[� 8��43 ���� iC�� �4�� �@��b� ����4�

 !!8��48� *+t��  


�} : �Q�    ��>�� �  

３.    $�����CAM 

 *� =�J�4 %�� �3 ,� � �� �3 ,� 6��	 .��Q� .3�� 

.��Q� ,+_�9   F8��	CO2    3�48� *��!�<) $a�<	4 �� .�<� -�:�9 �3  
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   $4_��CO2   *� �M� t�� ��<���� ,+_�9 3��@0H ��� �3 4�8��43     

 ��%��*� %�� %�� =�M�� �� �� .8���  

 N�	4�*� =�J�4 %�� �3 6+�[�	 �5�] ���   �� $�] !F%�� ��� $����� �0� ��� �	 ,�C�) 3��   ATP   �NADPH   N�	4�   ���
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*� =�J�4 �@)�� �3 �3 4� 6��	 .��Q�,�<b�) %�� �3 ��M+3 � �� �3 *�+ :8��3 (*���% �8��  
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��%�� �	 %�� �3��<� ��    *� =�J�4 6��	 .��Q� -8��<�.8�3  
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１.  *� =�J�4 %�� =�M��   :8�3C3,C4 

２.    :6+�[�	 �5�]C3 
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 :��@��4  
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 �<+3_�! -8���� ��� �	 *���g   %4 4� 3�5 ��� *� .!3*� .!3 �� 4� 3�5 %��� 3��� 
���	�� -*[9 34�� %4 �+�L� �� � 8�33��9 (  
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２.  ���	�� O4��4 %4 *�+ :3�J! *� 8�[�� �K��4 *�8/� 34�� N+�<	4 %4 + 8��<� F8��	_��!��0�� ��� .8��43 6��	 .��Q� + 8��	 
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